1. Using you Calculator or IPAD (Graph Calc HD) plot and sketch the following
functions for 27 <x<2x.

y=sinx has already been plotted for you.

A.
y=sinx
y=3sinx
y=0.5sinx
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B.
y = sin(x)
y=sin(3x)
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c.)

y=sinx

y=sin(x—3)
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d.)
y=sinx
y=sinx—2
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e)y= 3sin(l(x—4))+1
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2. Now try to sketch the following functions WITHOUT the use of technology:
a.)

y=sinx
y=4sinx

y=—4sinx

b.)

y=sinx
y=—4sinx+2
y=—4sin(2x)

ﬂ& |
w,.

c) y=—4sin(2(x-1))-
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3. Given the graph of the sine function below, write the equation:
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